Specifications for IndentNo :24BX7C005

IndLNo ltem Code
3 EDB061D-1193639

Dated : 13 May 2024

item Description
BUZZER KPEG755 6-28V CONT+IMP

IndLNo Item.Code
79 ED6061D-1404458

ltem Description
THREADED ROD M16X1000 D6.6

IndLNo ltem Code

27 ED6061D-162-0263-376X404X2

Item Descrigtié-ﬁ
GASKET 376X404X2 STAINLESS STEEL

IndLNo Item Code
14 ED6061D-214-1500-A

GUIDE RING

IndLNo Item Code
15 EDB061D-214-1593-F2

Item Description
GASKET 278X232X3 FIBRE

IndLNo ltem Code
16 EDB0G1D-215-0179-F14

Iten'; Desﬂcription
FRICTION HALF-RING 180X25 CUSN12P

IndLNo lte rr-'u-Co_cle
34 ED6061D-215-097-23-38

Item Desérigtion
WHITE LED

IndLNo Item Code
75 EDEB061D-23352AC040LE

Item Description
LOCK TAB WASHER

IndLNo ltem Code
a0 EDB061D-46014A00750

Iltem Descfi tion
O-RING 7,5X1 .8

indLNo ltem Code
28 EDG0610-46014A01600

B Item Descri ﬁon
O-RING 16.00X1 .80 20A8

Page 1 of 13



Specifications for IndentNo :24BX7C005
IndLNo ltem Code
A1 EDG061D-46014B02120

Dated : 13 May 2024

Item Description
O-RING 20X2.65

IndLNo Item Code
42 EDB061D-46014B02240

IndLNo ltem Code
43 EDB061D-46014B05000

Item Description
O-RING 22,4X2,65

ltem Description
O-RING 50X2,65

IndLNo Item Code
20 ED6061D-46014D11800

ltem Description
O-RING 118.00X5.30 20A8

IndLNo Itern Code
80 EDB061D-486991

Item Description
SLOTTED SET SCREW

IndLNo ltem Code
a1 EDB061D-486999

ltem Description
CYLINDER END-FITTING BRAKE

IndLNo ltem Code
g7 EDBOG1D-487006

Item Description
SLIDE HOLDING SCREW

IndLNo ltem Code
83 ED6061D-487007

Item -Descrigtion
NUT

IndLNo ltem Code
84 EDG061D-487008

ltem Description
SLIDE HOLDING SCREW

IndLNo Item Code
85 EDB061D-487009

ltem Description
GROOVED WASHER DIAM.17X30

Page 2 of 13



Specifications for IndentNo :24BX7C005

IndLNo Item Code
86 EDB061D-487045

Dated : 13 May 2024

Item Description
BUMPER

IndLNo Item Code
87 ED6061D-487372

ltem Description
ADJUSTING SHIiM 487372

IndLNo Em Code .
88 ED6061D-487373

Iteh"n Description
ADJUSTING SHINM 487373

IndLNo Iltem Code
89 EDB061D-487374

Item Description
ADJUSTING SHIM 487374

IndLNo Iltem Code
44 ED6061D-487604

Itém Descri.gtion
INSIDE FLANGE

IndLNo Item Code
45 EDG061D-487607

Item Description
OUTSIDE FLANGE

IndLNo Item Code
46 EDB061D-494332

ltem Description

HOISTING CABLES ASSEMBLY

IndLNo Item Code
90 EDB0O61D-510551

Item Description
FITTED SCREW

IndLNo Item Code
47 EDE0B1D-518730

Item Description
DOWNHAUL CABLE

IndLNo Item Code
74 ED6061D-523668

Item Description
SNORT. MAST FITTING




Specifications for IndentNo :24BX7C005
IndLNo tem Code
122 EDB061D-524458

Dated : 13 May 2024

ltem Description
GUIDING PART

IndLNo Item Code
33 EDS061D-5310MB-DN10

Item Description
LOCK WASHER D10

IndLNo Item Code
48 EDG061D-5310MDRONDNLOBAC

Item Descrigtidn
NORD-LOCK WASH 8

IndLNo ltem Code
49 ED80B1D-5310MDRONDNL1ZAC

Iltem Description
NORD-LOCK WASH 12

IndLNo ltem Code
a1 ED6061D-5310MDRONDNL24AC

Item Description
STEEL SAFETY WASHER DE24

IndLNo ltem Code
30 EDB051D-5330-14-507-4210

ltem 5escrigtioﬁ
GASKET 295X333X2 ASBESTOS-FREE FIBRE+ELASTOMER

IndLNo item Co&e
12  EDB0E1D-5330145240907

GASKET 278X232X3 FIBRE

IndLNo ltem Code
4 ED6061D-6ES7151-1AAD5-0ABO

item Description
ET200S TETE DE STATION

IndLNo Item Code
50 EDB061D-6ES7-317-2AJ10-0ABO

ltem Description
CPU 317 2DP

IndLNo Item Code
51 EDB0681D-6ES7-321-1BHO2-0AA0

ltem Description
16 ON/OFF INPUT MODULE 24 V

Page 4 of 13




Specifications for IndentNo :24BX7C005
IndLNo Item Code
52 EDB061D-6ES7-322-1BLO0-0AAD

Dated : 13 May 2024

ltem Description
QUTPUT MODULE SM222

IndLNo Item Code
53 ED6061D-6ES73225GHO00ABD

Item Descrigtion.
16 OUTPUT ON/OFF MODULE 24V/48Y

IndLNo I:err-l Code
54 EDB061D-6ES73317NFO00ARBO

Item Descrigtion.
8 INPUT ANALOG MODULE

IndLNo ltem Code
a2 EDB061D-6EST7-332-5HF00-0ABR0

Item Description
8 ANALOG MODULE

IndLNo ltem Code
55 E£DB061D-6ES7953-8LJ11-0AAD

Item Description
MEMORY CARD 512K0O

IndLNo ltem Code
93 EDB061D-7X19DIAM3INOXAISIZ16

Itém Descrigtion.
STAINLESS STEEL CABLE 7X19 D=3

IndLNo tem Code
94 ED6061D-808586

Item Description
SCREW H M10X20X30 STEEL CL 8.8

IndLNo Item Code
5 EDB061D-88871103

ltem Description
TEMPORISED RELAY

IndLNo item Code
68 ED6061D-2008311183

ltem Description
SCREW H M 8X25X25 8.8 B198

IndLNo Item Code
8 ED6061D-943686-003

Itém Descrip‘iion
RJ45 ETHERNET SWITCH

Page 5 of 13



Specifications for IndentNo :24BX7C005
IndLNo ltem Code
9 EDB061D-9586237

Dated : 13 May 2024

ltem Description
SECTOR FILTER 20A REF: 20EQ1

IndLNo Item Code
13 EDB061D-9980000015130

Item Description
SCREW CHC M8X25X25 CL 8-8 STF33.02/V002

IndLNo item Code .
18 EDANG1D-AS-90X100X7X10-88NBR101

Item Description
SCRAPER RING

IndLNo ltem Code
19 EDB061D-ASOBOOX98X4-7-88NBR-101

Item Description
SCRAPER RING 88NBR101

IndLNo Et-em Code
a5 EDB061D-CDCNPL47892

Item Description
BUSH "RUCH" DE10 .2

IndLNo ltem Code
96 EDBO61D-CDCNPLATI0E

Iltem Déscrigtién
BUSH TIGHTNESS "RUCH"

IndLNo Tfem Code
55 ED6061D-DFA80-75-9-5-PF48M

Item Description
GUIDE RING DFA

IndLNo Item Code
& EDBOB1D-DIN-68S

Item Description
SCS! TERMINAL TRIP

IndLNo Fem Code
7 EDB0E1D-E210-1824DF85

ltem Description
RELAY 2110 B1 115 V 50/60HZ

IndLNo ltem Code
a7 EDB6061D-E22111-600LBZTPS

Item Description
LOCKNUT MB0X2

Page 6 of 13




Specifications for IndentNo :24BX7C005
IndLNo Item Code
98 EDB061D-E25112B140M90QVACM

Dated : 13 May 2024

ltem Description
SCREW H M 14X90X34 8-3 B1958

IndLNo Item Code
99 EDB061D-E25112B160M110KVA

Item Description o
SCREW HM16 110/38 STAINLESS STEEL

IndLNo Item Code
57 EDB061D-E25112B160M 140K VA

Iter-n Description
SCREW H M16X140X44 Z5CND17-04-01

IndLNo ltem Cade
100 ED6061D-E25112B200MB0QVAL

Item Description
SCREW H M 20X80X46 8.8 B198

IndLNo Item Code
101 ED8061D-E25112B80M100QVACM

Iltem Description
SCREW H M8X100x22 8.8

IndLNo ltem Code
102 EDE061D-E25114B40Q10QVACM

Item Descrigtidn .
SCREW H M4X10X10

IndLNo _It_em Ccde.
103 EDB061D-E25114B80Q20MUA

!tém Description
SCREW HMS8-20/20

IndLNo ltem Code
104 EDB061D-E25125B120Q50QVAZU

Item Description
SCREW CHC M12X50X50 CL&-8

IndLNo l.tem Code
105 EDB061D-E25125B80Q40ZJAPA

Item Descrigtioﬁ
SCREW CHC M 8X40 SS A4 B197

IndLNo item Code
58 EDB061D-E25129A80Q12ZHS

Item .Descrigtion
SCREW RLS M38X12X12

Page 7 of 13




Specifications for IndentNo :24BX7C005
IndLNo Item Code
106 EDB061D-E25401A240QQLAT

Dated : 13 May 2024

Item Description
NUTHM24 12 PH B199

IndLNo ltem Code
107 ED6061D-E25401B240QQVECM

Item Description
NUT H M 24 STEEL CL8-8

IndLNo Item Code
108 EDB0B1D-E27453-160QCCT

) ltem Description

BLIND NUT M16 Z6CNT18 10

IndLNo Item Code
193  EDB061D-E-GT-20097-40-55A

Item Description
GUIDING STRAP E/GT SERIES PTFE

IndLNo ltem Code
109 EDB061D-ENISO4014-M16X70-88-A

Item Descri tlén
SCREW H M16X70X38 CL 8-8

IndLNo Item Code
110 EDB061D-ENISO4014-M24X80-88-A5B

ltem Déscrigtion .
SCREW H M24X80X54 STEEL CL. 8.8

IndLNo -I-t.ém Code
R/Q EDEOB1D-ENISO4017-M10X35-A4L-80

ltem Description
SCREW H M10X35X35 A4L-80

IndLNo ltem Code
20 EDB0G1D-ENISO4017-M16X50-A4L-80

Item Description
SCREW H M16X50X50 A4-70 B197

IndLNo Item Code
114 EDB067D-ENISO4032-M20-8-A2C

Item Description
NUT H M20 CL8 ZN-BI

indLNo ltem Code
112 ED6061D-ENSI04032-M16-8-A2C

ltem Description
CHROMATED NUT HM 16 CL8

Page 8 of 13




Specifications for IndentNo :24BX7C005
IndLNo Item Code
31 ED6061D-GR7300900-T51

Dated : 13 May 2024

Item Description
GUIDE RING 90-95-15

IndLNo Item Code
71 EDB061D-GSM141-003F4DN8-2

Item Descrilgtion
STAINLESS STEEL LOCK TAB WASHER DNS

IndLNo Eem Code
59 EDB0B1D-HA22F0A4

Item Description
FUSE 0,4A HA22

IndLNo ltem Code
60 EDB061D-HA22FDAB3

Item Description
FUSE 0,63A HA22

IndLNo Item Code
61 EDB061D-HA22F1A6

Item Deécrigtion
FUSE 1,6A HAZ22

IndLNo Item Code
62 EDB0B1D-HA22F2AS

Iltem Description
FUSE 2,5A HAZ22

IndLNo Em Code
63 EDB0B1D-HA32F30A

Iteh Description
FUSE 30A HA32

IndLNo Item Code
64 EDB0B1D-HA39F0A250

ltem Description
FUSE 0A25 HA39

IndLNo Item Code
65 ED6061D-HA39F16A

Item Desc-rigtion
FUSE 16A HA39

IndLNo Item-_Code
78 EDB061D-1SO16042-M8X16-A4L-80

Item Desf:ri-p_:tioﬁ .

SCREW FHC-90 M8X16X16 STAINLESS STEEL A4L-80

Page 9 of 13



Specifications_for IndentNo :24BX7C005

IndLNo Item Code
113 EDE061D-1S04014-M16X55-8-8-A2C

Dated : 13 May 2024

Item Description
SCREW H M 16X55X38 STEEL CL:8.8

(ndLNo ltem Code
114 EDB061D-1S04017-M14X40-A4L-80

Item Description
SCREW H M14X40X40 INOX A4L.-80 8.8

indLNo ltem Code
32 EDB061D-1S04017-M8X50-A4L-80

ltem Description
SCREW H M8-50/50 STAINLESS STEEL

IndLNo ltem Code
115 ED6061D-1SO4032-M10-8

ltem Description
NUT H M10 STEEL CL 8.8

IndLNo ltem Code
116 EDB061D-1S04032-M14-A4L-80

ltem Description
NUT H M14 S8 A4L-80

IndLNo Ter;l Code
117 ED6061D-1S04032-M5-A4L-80

Item Descrigtioﬁ
NUT HM 5 SS A4L-80

IndLNo .I.tem Code
118 EDB061D-1504033-M6-8

item Description
CHROMATED NUTHH M6 &

IndLNo Item Code
72 EDB061D-ISO7089-6-A4L-80

Item Description
WASHER MGEA4L-80

IndLL.No ltem Code
119 ED&OB1D-1S08734-1240-C1

item Description
CYLINDRICAL PIN 12-40-CA1

IndLNo Item Code
120 EDB6081D-ISO8734-12X40-C1

Item Description
CYLINDRICAL PIN 12X40-C1

Page 10 of 13




Specifications for IndentNo :24BX7C005
IndLNo Item Code
121 EDG6061D-I1S08734-8X30-C1

Dated : 13 May 2024

ltem Description
CYLINDRICAL PIN 8X30-C1

IndLNo Item Code
g ED6061D-KPEG280

ltem Description
BUZZER 2 TONS

IndLNo Item Code
10 ED6061D-L50-76024D

lte.m Descr.i.l._)tion -
TRACK BALL

IndLNo Item Code
73 EDB061D-MAT164-0315F1

Item Description

CAPACITY SCREW FOR SS PIPE DE 10.2

IndLNo Em Code
11 EDB061D-MGDS-150-0O-1-L

Iltem Description

CONVERTER 16 80 VDC / 24VDC

IndLNo Item Code
17 ED6061D-PT0401800-T40E

Iltem Description

GLYD RING T180-159-8.1 + O-RING 158.12X7.00

IndLNo ltem Code
2 EDE061D-R15-1MX20M

Item Descri.gtion
AIR FILTER

IndLNo Item Code
768 ED6B061D-SEI-103

ltem Description
THREADED WIRE CLAMP D3-4

IndLNo Item Code
77 EDB061D-SR770852502940

Item Description

CLOSED CABLE HOLDER CHAIN

IndLNo Item Code
20 EDB061D-T47501BEE39100ADNL

Item Description
O-RING 391.00X7.00 20A8

Page 11 of 13



Specifications_for IndentNo :24BX7C005
IndLNo ltem Code
21 EDB061D-T47501DBB0O09S0ADNA

Dated : 13 May 2024

Item Description
O-RING 9.50X2 65 20A8

IndLNo Em Code
35 ED6081D-T47501DCCO7300ADNL

Iltem Description
O-RING D=73X3.55

indLNo Item Code
9  EDB061D-T47501DDOYO00ADNA

ltem Desérigtion
O-RING 90.00X5.30 20A8

IndLNo Item Code
23 EDB061D-T47501DDD17750ADNL

Item Description
O-RING 177.50X5.30 20A8

IndLNo ltem Code
24 EDB0B1D-T47501DDD20300ADNL

Item Description
O-RING 203.00X5.30 20A8

IndLNo Em Code
16 EDB061D-WB300G09400ADNL

ltem Description
O-RING 94X3

IndLNo ltem Code
57 EDG061D-WB400G09200ADNL

Item Description
O-RING 92X4

IndLNo Item Code
38 EDB061D-WB500G210C00ADNL

Item Description
O-RING 210X5

IndLNo item Code
19 EDB0B1D-WB533G06287ADNL

ltem Description
O-RING 62,87X5,33

indLNo .ltem Code
o5 ED6061D-WB699G46200ADNL

Item Description
O-RING 462.00X7.00 20A8

Page 12 of 13




’ ¥

Specifications for IndentNo :24BX7C005 Dated : 13 May 2024
IndLNo ltem Code ltem Description
26 EDBO61D-WES200900-T40E TURCON EXCLUDER SEAL 590-102.2-8.1 + O-RING 94.84X3.53

Page 13 of 13




